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QUESTION & ANSWER (ANY 5)
1. Which situation is worse than illiteracy?
What presents a paradox?
When did pulse of plant become more violent and more rapid?
When do difficult things become so simple?
Name two things that were discovered around first century.
Who is earliest writer of books on surgery in ancient India?
7. Who was founder of Indian mathematical society?
Synonyms: feature, influence, entire, reality, alter
Antonyms: necessary, induction, prosperity, sensitive, visible
Tell the difference between: some-sum, wring-ring, devise-device, perfect-prefect, root-route
Report writing: Write a report on blood donation camp or write a report on celebration of yoga day
Expansion of Idea: Knowledge is power or Drob of water makes an ocean
Chane into negative without changing the meaning of the sentence.
1. Vatsalis active.
2. Avyushiis rich.
3. Watch is expensive.
4. Red fortis huge
5. He s dishonest.

oV e W

1. | play cricket (make simple past)

2. Heis writing a letter. (make past continuous)

3. | wrote with pen. (make simple present) .
Narration

1. Teacher said, ‘l will teach English’

2. Students said, ‘we want playground’

3. He said, 'l am going to Raipur’

1. Children like sports.
2. Principal punished the boy.
3. Cake was cut by me.



